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Question 1 of 22

Section A: MCQ (4 x 1 mark = 4 marks) 
 
Read the questions carefully. Choose the correct answer. 
 
2 and _____ make 5. 
What is the missing number?

A) 1

B) 2

C) 3

D) 7

Question 2 of 22

_____ - 4 = 4 
 
What is the missing number?

A) 0

B) 2

C) 8

D) 4
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Question 3 of 22

Look at the picture shown below. 
 

 
 
How many lollipops are there?

A) 15

B) 16

C) 17

D) 18

Question 4 of 22

15 + 2 is greater than ________.

A) 13 + 4

B) 14 + 4

C) 18 - 3

D) 19 - 2

Question 5 of 22

Section B: Open-ended Questions (13 marks) 
 
Fill in the correct answers. 
Questions 5 to 11 carry 1 mark each and questions 12 to 14 carry 2 marks each. 
 
What number is 1 less than 7? 
The answer is ______.
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Question 6 of 22

Subtract 4 from 10. What is the value? 
The answer is ______.

Question 7 of 22

Find the missing number in the blank below. 
 
14 - ______ = 6 
 
The answer is ______.

Question 8 of 22

Write the number below in words. 
 

13

Question 9 of 22

Arrange the numbers from the greatest to the smallest. Put ‘space’ or ‘,’ between your
answers.
 

 
 
_______, ________, ________, ________ 
greatest
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Question 10 of 22

Look at the picture below. 
Complete the subtraction equation. 
 

 
 
9 - ______ = 3

Question 11 of 22

Choose two numbers that make 13. 
 

A) 0

B) 9

C) 6

D) 3

E) 7

F) 2
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Question 12 of 22

Choose the correct subtraction equation based on the picture shown below. 
 

A) 4 - 2 = 2

B) 4 - 4 = 0

C) 4 - 1 = 3

D) 6 - 2 = 4

Question 13 of 22

Fill in the boxes to complete the number pattern below. 
 

A) 9, 11

B) 10, 12

C) 7, 9

D) 11, 13
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Question 14 of 22

Choose an addition and a subtraction equation based on the number cards shown below. 
 

A) 11 - 8 = 3

B) 11 + 8 = 19

C) 19 + 11 = 30

D) 19 - 11 = 8

Question 15 of 22

Section C: Problem Sums (Total 8 marks) 
 
Mr Tan has 9 ice cream cones. 
He sells 5 ice cream cones. 
a) How many ice cream cones does he have left? 
 

A) 9 + 5 = 14

B) 9 - 5 = 4

C) 5 + 4 = 9

D) 9 - 9 = 0
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Question 16 of 22

Mr Tan has 9 ice cream cones. 
He sells 5 ice cream cones. 
How many ice cream cones does he have left? 
 

 
 
b) He has _____ ice cream cones left.

Question 17 of 22

Siti has 12 ribbons. 
She gives 4 ribbons to Alice. 
a) How many ribbons does Siti have left? 
 

A) 12 - 4 = 8

B) 12 + 4 = 16

C) 8 + 4 = 12

D) 12 - 6 = 6
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Question 18 of 22

Siti has 12 ribbons. 
She gives 4 ribbons to Alice. 
How many ribbons does Siti have left? 
 

 
 
b) Siti has _____ ribbons left.

Question 19 of 22

Alex has 7 toy cars. 
He buys 5 more toy cars.
a) How many toy cars does Alex have now? 
 

A) 7 - 5 = 2

B) 7 + 7 = 14

C) 7 + 5 = 12

D) 5 + 5 = 10
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Alex has 7 toy cars. 
He buys 5 more toy cars.
How many toy cars does Alex have now? 
 

 
 
b) Alex has _____ toy cars now.
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Jane has 15 cupcakes. 
Her mother gives her 3 cupcakes. 
a) How many cupcakes does Jane have altogether? 
 

A) 15 - 3 = 12

B) 15 - 12 = 3

C) 15 + 3 = 18

D) 3 + 3 = 6
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Jane has 15 cupcakes. 
Her mother gives her 3 cupcakes. 
How many cupcakes does Jane have altogether? 
 

 
 
b) Jane has _______ cupcakes altogether.


